Width: 178cm Width: 200cm
Depth: 106cm G Depth: 106cm
Height: 110cm "Q Height: 110cm
Volume: 1,90 m? E’:” Volume: 2,13 m’
Weight: 59kg = Weight: 64kg

Width: 245cm Width: 156cm
Depth: 106cm Depth: 106cm
Height: 110cm Height: 110cm
Volume: 2,60 m* Volume: 1,67 m*
Weight: 75kg Weight: 49kg
3-er lateral element
Width: 178cm Width: 223cm
— Depth: 106cm Depth: 106cm
\
‘—9 Height: 110cm Height: 110cm
\’ Volume: 1,90 m’ Volume: 2,37 m’
== Weight: 54kg Weight: 64kg
Chaise Longue Square corner
Width: 100cm Width: 104cm
\‘ Depth: 168cm Depth: 106cm
\ Height: 110cm Height: 110cm
$ Volume: 1,70 m® Volume: 1,13 m®
v Weight: 47kg Weight: 36kg
1-er central element 1-er lateral element
Width: 66cm Width: 88cm
Depth: 106cm Depth: 106cm
Height: 110cm Height: 110cm
Volume: 0,73 m’ Volume: 0,96 m®
Weight: 19kg Weight: 30kg
Armchair Foolstool
Width: 110cm Width: 80cm
Depth: 106cm ’ Depth: 80cm
Height: 110cm v Height: 46cm
Volume: 0,58 m® v Volume: 0,32 m®
Weight: 3%kg Weight: 15kg



